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B Grey line: exponential fit Peak flux: 8.620+/- 1.121 c/s/cm® ]
L Black line: power law + gauss fit Fluence : 41.33+/- 4.83 c/cm? |
— Dashed line: power law o ’ ' —
L Duration: 10.05+/- 1.65s _
B Best fit model: 1. i
— Best fluence model: 1. —
B Best duration model: 1. i
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= Expon.time: 2.78+/- 0.36 s (chi*red= 1.10) =
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; Power law fit é
= Power law index: -1.684+/- 0.159 (chi’-red= 1.10) 3
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—  Power law fit plus Gaussian (st.dev.= 10.18+/- 8.62 s, fracgs= 0.06+/- 0.10) =
- Power law index: -1.571+/- 0.241 (chi*-red= 1.14) 7
ST | bt b b St b bt e T
= Lk WW H i ﬂﬁﬂ#ﬁﬂw fHiniy :ﬂﬁwﬂw i M M A Wﬂw ﬂﬁ: i Hﬂ*ﬁﬁwﬁﬁ*ﬁw iy e My :ﬂﬂ WW%
= + -
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E
0 100 200 300

Time [s]



